1. TS AB7Io=d 22 W, a+b+c 9 g= F5tofzh

A={1,2,a,7,b} ol thotd {1,3} 7} {1,2,7,9} = A A o] FEAT
olty. B ={1,2,3,¢,9} ol tisto] A c B °|i, BcC A o[t




fol 27 3t 45 ] HjFoFpE FoHH?

235

@6 ® 8 @ 9 ® 10

@D 4



A

ftlo

1= R 129

Tlo

O A=o ol¥ A 9 Y49 4= 0 7 oltt.

@ A 9] Y9a0] R} B o] 949] AH57t BOW A C B oltt.
® AcC BOo|H B 9 949 57t A 9] 949 4R} it
@ A= {z |z 10 °]5t2] 39 HjS=} oA n(A) =4 o]tk

® n({1, 2, 4}) —n({2, 4, 6}) =0 °|c}.



FAF A={1, 2}, B={1, 2, 3, 5} o Hfatq o} 5 &2

® BcA
® n(B)={1, 2, 3, 5}

® A¢ B

@ n(A)=3

@ n{B}+n{A}=6

al

A

29



2]

T

el

A -
El %I]_.?



vk 369 ¥4}, B = {o | ot 09 ¥4} ol disted 4 C B
o 2pAsE % A

@ 70 ® 87l @ 97 ® 1070






8.

E512] = 7P 697 Folth T ARS BT LESHR] 9= 7L 167
o, A ¢} B AlES

ol OFE ©A] 1507H & A Als P53k 7 T07HE B AlEs T
R A==l i



olJ

=0
Tor
A
—_
Ife]

Njio
ol

olJ

=0
Tor

A

fife]
Mo
T

Tor

stofzt.

A 7

—_—

Eo

™
=~



10. ojH 42} 329] FtfjF<k



11. 3% =243, 7° = 343 & W&ot= AAS a, b ol 5t a x b 9] 22

@ 10 @ 15 ® 20 @ 25 ® 30



@ 271

@ 374

@ 570

® 671



13. v 271 6 I A=4d +8 25 Zoteh
(2]

H7]
3,9, 11, 12, 15, 17, 25




14.

T A A, B Hist] tha F &2

® AcBo|HANB=B

@ BCc A°lH AuB=B

® AU =0

@ AcCB, BgAoJHANB=A

® Ac (ANB)C (AUB)



15. Al 4= 3x52, 3 x3%x 5%, 2x3x 50 x7 O] HHFAE7}dx 5 0|3, H w57
Bxxpzxram L0 o zre 2amo
C a

@0 @1 ® 5 @ 9 ® 12



